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I. 3 rulings of janv " in reference to function of 1 in Nk — quoted by par
a. (also o»Inx in 81717773, per above): if he threw an object to another (traversing the domains)
i. If: the other stood still and caught it, the thrower is 2»n
ii. But if: the other left his place to catch it, he is (both are) exempt
iii. 2 77's query: what if he threw it, ran and caught it elsewhere himself — is he liable?
1. Explanation of question: do we regard two functions in one person as virtually two people (=>"109)
a. Or:do we regard it as essentially one person (21n) —p’n
b. If: he stretched his hand into another’s courtyard, received rainwater in his hand and brought it out — 2’n
i. Challenge (87r 77): why is being “laden” by the heavens different than being laden by a fellow (1702)? In
neither case did our subject perform the nvpy?
1. Defense: read “v%p” (he collected) rather than 52>p (implying getting water directly as it falls)
2. Challenge: we require an npy from a substantial resting place (4x4)
a.  Answer (X171 777 7772 8711 *): he collected it from atop a wall
i Challenge: in that case, it never came to rest
ii. Answer: per ®17's explanation (elsewhere) — it refers to a slanted wall
1. Note: X17’s statement is an explanation to x> parvy
a. 2 parvy. if he was reading a scroll on a veranda and it rolled out of his hand, he may
roll it back to him
If: he was reading atop a roof:
If: the scroll was till over n'nav » off the ground, he may roll it back up
But if: the scroll was now under o'nav » from the ground (in 9”n11) — turn it over there
And: we asked why he cannot roll it back up - it never came to rest
i. ~17 reference is a slanted wall (where it rested on wall)
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iii. block: ®27's interpretation was re: a scroll, that rests — water doesn’t “rest” on slanted wall
b.  Rather (837): case where he collected the rain water from a hold in the ground (filled with water)
i. Challenge: this should be obvious
ii.  Justfication: we might have thought that water isn’t considered “at rest” atop water — 9"np
1. Note: 811 follows his own ruling — that water is at rest on water, a nut on water is not at rest
a.  N27s query: if a nut is in a »93 and the *93 is floating on water — is nut “at rest”?
i Do we: look at nut, which is at rest in 93, OR
ii. Do we: look at 93, which is not at rest (floating on water)? —p'n
2. Related note: oil atop wine is a dispute D’n3N/1"21 (in re: contact of 120 with oil and its
impact on wine) —in n:1 DY 9120
c.  If:he was laden with food (e.g.) and went in and out all day — 7109 until he stands still
i. »an: only if he stands to rest (not to adjust the pack)
ii. source: from ruling — if he stood to rest within 8”1, :09; if to adjust pack — 27n (when he continues)
1. but if: he stood to rest outside of 8”1 — 27n; to adjust pack — 102 (if he doesn’t stop again)

iii. challenge: if this is teaching that the original npy had to be for the achieved purpose to be 27n, »" already
issued the ruling (per 'nX 7 DWa X190 ") — if he was moving objects from corner to corner and then changed
his mind and took them outside — he is 1709, since his original n1’py was not for that purpose
1. answer: each nan repeated 13y '7’s ruling in their own formulation

II.  xma:if he carried from a store, through the portico to the public domain — 27n; 'Rty 12 exempts
a. A2 is understood — he holds that walking is tantamount to coming to rest
b.  onom what is the model for 2vn here?

i. Answer] (1 *): just as carrying in 9”01 — until he comes to rest, 1109; once he comes to rest — 2n
1. Challenge: in that case, wherever he stops is 2'n mpn; here, if he stopped in the 0o, he’d be 10a
ii. Rather: just as someone carrying 7”111 R”1 — not 27n until he reaches the 8”1
1. Challenge: incomparable; the intermediary space is objectively 21'n mpn unlike the yvo
iii. Rather: just as someone carrying from »n7 to 1”07 through 9”77 71% (e.g. quasi-public area before store)

1. Challenge: that is only valid according to o'nan, who don’t regard 7”07 »1¥ as 1”n9; but »”ar1 does equate them

2. Answser: »"aR" agrees that if there are little poles blocking 1”17 1% from 1”77, it is a Yn13->that’s the model
iv. 72112 7. o8ty 11 agrees that if he throws it, he is 27n

1. Supporting Xr772: same as Rn»12 above — but includes VWM pT; ¥”a agrees in those 2 cases that he is 27n
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